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SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K Ol AF o8 BlusZ
OxnE 30,0009 +3% +0. 30+ 128 324
BEEEEEES 50,0008 * 1% +122 600
O=UZ Al 130,0002 32« 128 4,680
OHANSL SN LYo
1,900, 500! %4 96/ 100%1.31 9,561
09 PIUHA2EX24 188,192 129,138 59,054
BENESERTIE 25,819
oJleaz 38,8509 1% #2552 9,907
O&012 9,907,000/ *1/3 3,303
OFs4+g 33,8502 * 1% +522 2,021
OeiR 45 33,8502 %12 %202 777
OAlZrel2g
38,8502+ 12 %1.5/8x 15AI 2t #1228 1,312
Oof 40,0008 %124 %152 x 128 7,200
o=z 1,299
ENEREES 25,819
o2z 38,8502 12 %2552 9,907
O&012 9,907,000%!*1/3 3,303
OFg+g 33,8502 * 124 +522 2,021
Ol=PEN= 33,8502 %1% %202 777
OAlZr el g
38,8502+ 12 %1.5/8% 15AI 2h+122 1,312
Oo1| 40,0002 %12 %152 * 122 7,200
ogsz 1,299
OEgz el 27,029
OJl=g 41,218 %1% %2602 10,717
Ox0i2 10,717,0002%1/3 3,573
OFs+g 41,218 %1% +522 2,144
Ooixt 4 g 41,2182 %1% *152 619
OAZr el g
41,2182 %12 %1.5/8x15A1 2t 128 1,392
oot 40,0008 %124 %152 » 128 7,200
ogsz 1,384
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S pElszene
Y AL (MHEBBARR)(IIEH/IIE
Crol: ol oty) CLE-E
A BB O(B) - NEAY - BAS Of o e Hl R =2
OAUuRHEEH AR 54,497
OJl=z= 41,2203 +x2H 260 21,435
O&8N3 21,435,000& *1/3 7,145
O=s=+g 41,2203 x2H x52 4,287
Od X< 41,2203 x2H 20 1,649
OAlZte =%
41,2203 x2H *1.5/8x15A| 2+ 12& 2,783
On bl 40,0003 x2Y x 152+ 122 14,400
OB8= 2,798
Oatg 18R 55,028
oJ1as 38,850& x3F *x255F 29,721
Q&3 29,721,000& *1/3 9,907
O=5=¢ 38,8503 x3H x52 6,061
(@LGPNE=S 38,850 x3H 15 1,749
OANZ2el =g
38,8503 +1.5/8+15A| 2t *12& 3,934
OB8Z 3,656
203 YRFAY| 13,540 13,320 220
01 JI22ZYRFL8Y| 3,300 3,000 300
O stdHA AR 3,300
02 HAINMHRFE| 1,240 1,320 A 80
OAJAAD & & Z Y 40,0003 *31Z 1,240
04 REN2IYRFLAYI 9,000 9,000 0
D& H(HA15H0I8H) 250,000& «3t=12& 9,000
204 DAY 85,740 91,080 A5,340
01 HHMZHARAHAH 8,400 8,400 0
O 400,0003 x1H » 122 4,800
OnE 100,000 3 12 3,600
02 HsZE2xHl 58,740 61,080 A2,340
4= 400,000& 1Z«12& 4,800
= 250,000& «3H x12& 9,000
6=, A P2A 155,000 *14H x 123 26,040
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SN MYEHAR
HE: #H2AAY (MFHBATH)(IIEHIIE)
el ol 2ol (5 &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
O7201573) 140, 000! %6 * 122 10,080
[18-92 (7158-92) 105,00024 +7% x 128 8,820
03 SHYLLESH| 18,600 21,600 3,000
m[ LI 50,0002 312 * 122 18,600
303 Za3 5,760 0 5,760
01 Za= 5,760 0 5,760
Nes4g 80,0002 62+ 122 5,760
p[CET 313, 170 300,382 12,783
2 313, 170 300,382 12,783
201 gr2gy| 256, 170 221,590 34,580
01 ARzt 100,070 93,890 6,180
mEETRR=Y] 38,130
OYRATZRALHEY|
40,0002 x23| * 128 960
OU2YRIPSE 15,0002 * 105+ 122 1,800
OSABXNUHMAZEY 10,000
OER2ISAWIIGEHE
2,000 +5, 0005 10,000
OZHO0IXNLPCR X 2 400,0002 *122 4,800
ON&EREHRS 100,000 * 122 1,200
OYUPBATEINTY 250,002 +31HIE 7,750
OstZaAsAHS Y
15,0002 *3%5 37 4 * 128 1,620
O2gag 51,300
SEE 50,0002 x223 x4852 48,500
ORARSANBAR 70,0002 ¥28§ x202 2,800
mEET 9,240
OMEBAATYRETZ AL
7,000 *338 x40 9,240
Ogxiz 1,400
OYsNALYSYMANSHTARE
350, 0002 43| 1,400
0 B2 156,100 127,700 28,400
OzZz2e2dHAl 77,500
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2N AYEHHRR
HH: HM2AFH(MPBBARR)(JIEHIIE)
9l 0|2 R (5l &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &F oA il b o bRz
SEPINEE] 4,000,000« 122 48,000
OMHUHBIMANBES
2,000,0002 122 24,000
ORELHURLLHEEZHA 2,000
OSBEYLEE 1,500
OXE XA 10,0002 *4CH 400
oxsxEE 400, 00021 *4CH 1,600
mf==2 40,000
OFAMSHE 40,000
WIPEE=EIESE 23,600
OASLANLSSRT 2] 15,000
OB AZHISAY) 300, 0002 *122 3,600
OFIILSHA LRI 5,000
mp RO LI 15,000
OXERENLXSHHI SIS 15,000
202 oft 45,000 32,002 2,908
01 =UHolH 45,000 32,002 12,908
DA SZAL=T0lY| 45,000
405 RArFESH) 12,000 46,700 34,700
IIETEEEEET] 2,000 46,700 34,700
O&T= A 5,000,0002 *1CH 5,000
D2 MAED 1,000,002 2CH 2,000
m[EEET] 5,000,0002 *1CH 5,000
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